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14941 80 = —Bm BIE 14981 40 = taEEH BiE

14942 50 3B FRRT BIE 14982 40 5 taEEH BiE HY
14943 80 3B —Bm BIE 14983 20 = taEEH BiE

14944 20 = —Bm BIE 14984 60 = taEER BiE HY
14945 60 3B —Bm BIE 14985 30 = taEER 7L HY
14946 30 = —=m BIE HY 14986 20 3 HAh BiE

14947 60 = —=m BIE HY 14987 30 3 HEM BiE

14948 80 = FRRT BIE HY 14988 70 3 2em BE

14949 | 10Ki% | % —=m 7L HY 14989 60 3 HEM BiE

14950 30 = FRRT BIE HY 14990 60 3 BEMH BiE HY
14951 30 = —=m 7L HY 14991 20 = nE BiE HY
14952 10 E FRRT BIE HY 14992 90 = iy EfE HY
14953 60 = —=m BIE HY 14993 30 3 —ER BiE HY
14954 80 = —Bm BIE 14994 80 = mEm EfE HY
14955 80 = —Bm BIE 14995 80 5 mEm BiE HY
14956 20 = #wETH 7L HY 14996 70 = i) 7L HY
14957 70 = #wETH 7L HY 14997 20 = nE 7L HY
14958 40 E #wETH BIE HY 14998 70 = iy 7L HY
14959 70 3B RBIRET HEfE 14999 70 3 BEMH hEfE

14960 20 E 28, BIE HY 15000 70 = iy hEfE

14961 40 E:] BT BIE 15001 10 = PRE ™ BE HY
14962 40 E:] BT BIE 15002 80 ] BEEH Tl HY
14963 30 E RAFMH BIE HY 15003 20 E: KA BE HY
14964 30 E RAFMH BIE HY 15004 50 E: Kig 7L HY
14965 50 = HFAH#HM HEfE 15005 80 E iy EfE

14966 50 = HFRH#HM BIE 15006 50 5 2em BiE HY
14967 50 = HFRH#HM BIE HY 15007 80 3 HEM BiE HY
14968 50 E HFRH#HM BIE 15008 80 5 iy BiE HY
14969 70 3B E-4=Faait] BIE 15009 10 = FEH BiE

14970 40 = HFRAH#HM BIE HY 15010 20 E BHHET BiE

14971 80 E:] E-4=Faait] L HY 15011 50 = FHE™ BiE

14972 10 = HFRH#HM 7L HY 15012 | 10kiE| 3B g mL HY
14973 20 E HFRH#HM BIE 15013 20 = g BE

14974 30 = N 7L HY 15014 80 3 ARF 7L HY
14975 10 E N 7L HY 15015 60 3 ARF BiE

14976 [10R3E| B T 7L HY 15016 30 3 ARF BiE

14977 30 = N BIE 15017 70 5 EIEA 7L HY
14978 20 3B N BIE 15018 20 5 MEH BiE

14979 70 E:] =l HEfE 15019 40 B 3L TL

14980 70 3B Iz B 18 BIE 15020 50 3 pUESY: 7L
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15021 20 3B Z@m L
15022 40 3B T BIE
15023 20 3B T BIE
15024 80 = H03L T BIE
15025 80 = =R 7L HY
15026 60 E A& LT 7L HY
15027 60 E Z@m 7L HY
15028 20 3B PUESS ) BIE HY
15029 30 3B T BIE
15030 30 E T 7L HY
15031 30 = PUESS ) BIE
15032 50 = A& LT BIE
15033 20 = Ei= BIE
15034 20 E Ei= 7L HY
15035 70 = B/EM 7L HY
15036 |10k | 5 B/EM BIE
15037 40 = SEHHET BIE HY
15038 70 = SEHHET BIE HY
15039 20 = SEHHET BIE HY
15040 60 = SEHHET BIE HY
15041 60 = SEHHET BIE HY
15042 60 = SEHHET BIE HY
15043 30 = SEHHET HEfE HY
15044 70 = 2)Ilm BIE HY
15045 20 3B 2l BIE
15046 |10k | 3B &)t BIE HY
15047 50 3B AT BE
15048 10 E AT BIE HY




